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Activity 3.

PREDICT THE TRANSFORMATIONS OF THE GRAPH OF Y =  X2  INDICATED BY EACH OF THE FUNCTIONS BELOW.  THEN USE YOUR TI*83 TO CHECK YOUR GUESS.

1.  Y = (X + 3)2  -  2





4.  Y = (X  - 5)2  - 4

2.  Y = (X - 3)2  -  1





5.  Y = (X + 1)2  +  4

3.  Y = (X - 2)2  +  1





6.  Y = (X - 3)2 + 2

Activity 4.
WRITE A FUNCTION FOR EACH OF THE FOLLOWING GRAPHICAL REPRESENTATIONS.
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Activity 5.

    ENTER Y1 = X2 , Y2 =  - Y1
    GO TO  TBLSET.  SET TblMin = 0 and   Tbl = 1.  GO TO TABLE.
    DESCRIBE HOW THE VALUES FOR Y2 DIFFER FROM THOSE FOR Y1.

    WHAT DO YOU THINK THE GRAPH OF Y2 WILL LOOK LIKE?

    CHECK WITH YOUR TI*83.

    REPEAT THE ABOVE FOR Y1 = X3, Y1 =   
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,   Y1 = /X/.

Activity 6
     ENTER  Y1 = X2, Y2 =  3X2
     GO TO  TBLSET.  SET TblMin = -5  and      Tbl = 1.  GO TO TABLE.
     DESCRIBE HOW THE VALUES FOR Y2 DIFFER FROM THOSE FOR Y1.

    WHAT DO YOU THINK THE GRAPH OF Y2 WILL LOOK LIKE?

    CHECK WITH YOUR TI*83.

    REPEAT THE ABOVE FOR Y2 = 2X2   ,   Y2 = 5X 2,   Y2 = 8X2    .  
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    REPEAT THE ABOVE FOR Y1 = 
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,  Y1 =  X3,   Y1 =  |X.|

TRY TO FIND A COEFFICIENT   A   FOR Y = A
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X2     THAT WILL RESULT IN A GRAPH WIDER THAN THE GRAPH OF  Y = X2   .

SUMMARIZE.

DESCRIBE IN YOUR OWN WORDS WHAT EACH OF THE PARAMETERS A, B, AND C TELL YOU ABOUT THE BEHAVIOR OF THE FUNCTION F(X) = A
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 f(X + B)   + C.
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